1)

7)

@rellel aTeRaTaT YehR 9T 3Hiesgr.
‘SR o FC el I NS Bb [ADT.
a) 3maref b) faeaaf c) 3Rt d) Hehardf

Qrefrerdehr 3R[EE rserdm Ay fadsr.

a) gy b) grdTcF g c) gare=g d) glarerg
Groll feoedr AUse=aT AR AT 9T fAgsr.

30211

a) ar b) &Y c) T&r d) ger

Greltel eregrar faveenet ersg fAaar.
3T
a) ATcHAST b) 37eTaT c) gael d) g9t

9 N

GTellel IRATT TeeledT Fgolar IRy 37Uar 9y fAasr
gt A qunel, gAY urh

a) HATIHTOT ESUATATST HEGH FeaieIqon o,

b) SRS JUAT Sidel 3HegAT U IETe.

Cc) 3ICUICYUT T

d) =T HUTITT YUIIATST 3T oL,

“ 3{dheldl HIGT ’ 8T TR AU HIOTHTS! ATIATd.
a) iRy facar AvH b) 3ifaerr 7 #AE
c) 3T it AUH d) 3rfaerr seAd AoE

Grell fEeeaT AscHAGIEaeEe AT IHUIRT Ueh eq G el
AT Aol ARTEAAT el fdell AT TBUT ATGUIRT -
a) YL b) HBTEY c) TRy d) ey

N O S

What is the tense form of the verb in the following sentence.
He flew the Indian tricolor on Mt. Everest
a) Simple Past Tense b) Simple Present Tense

c) Simple Future Tense d) Past Continuous Tense

Select the word in plural numbers from the following.
a) Zebra b) Ox c) Deer d) Goat
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10)

11)

12)

13)

14)

15)

16)

17)

18)

Fill in the blank with the most suitable prepositions.

The train is late by ................ hour.
a) the b) a c)an d) none of these

Find out the correct alternative from the following.
a) Clear - Clearfully  b) Nice - Nicelly c) Happy - Happily  d) Close - Closedly

Complete the following idiom by choosing the correct alternative.

To err is human, to forgive .............
a) divine b) manly c) girlish d) childish

Select the antonym of the given words.
Compulsory

a) Binding b) Optional c) Mandatory c) Requisite

Select the option with the correct spelling of the given word.
a) momento b) memento c) memonto d) none of these

Fill in the blanks with correct form of the noun.

| have put the ................ of tools back in the car.
a) comb b) set c) bag d) none of these
3— X — +12 +20 ="
10 10 5
107
a) 100 b) 0 c)l d)ﬁ
31 x = +12 +20 = How?
10 10 5
107
a) 100 b) 0 c)l d)ﬁ
disT 37T IR 3R g 9T 3R AT gl IEIRT I fohdr?
a) 3700 b) 3500 c) 1500 d) 999
Find the average of smallest three digits, four digits and five digits numbers?
a) 3700 b) 3500 c) 1500 d) 999

TSR 12 arelsl 30 fATAE el 3r9ar arg et g fAfae wer arear Ao slomy
AT TR 346

a) 165° b) 180° c) 150° d) 140°

What be the angle between to hands of watch at 12:30.
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a) 165° b) 180° c) 150° d) 140°

19) TrelTedehl Hb HEAT HIUTA?

a) 119 b) 187 c) 247 d) 179
Which of the following numbers is prime.
a) 119 b) 187 c) 247 d) 179

20) WTelteT 3ihdATiolehd ' x ' o fFad fhdr?
5,10,17, x,37,50, 65

a) 20 b) 21 c) 26 d) 29\
In the sequence of numbers

5,10, 17, x, 37,50, 65 thevalueof x is ............... ?

a) 20 b) 21 c) 26 d) 29

21) ' 6561 ' & T&AT GrdihId ¥ TolgT.

a) 83 b) 57 c) 38 d) 310
Write the number 6561 in index form?
a) 83 b) 57 c) 38 d) 31°

22) Grelieidehl FHHET YUl SiSl 3iear.

a) E , E b) Z , E C) E , % d) E , E
4’ 15 37 6 5° 25 3’6

Which of the following pair is of equal fraction?

a) E , E b) Z , E C) E , % d) E , E
4’ 15 37 6 5° 25 3’6

23) TH WEE oIS fHAT 400 T 38, B fhAday st 10 ge f&el, adgr
GERTAGRTCT QAT 10 RN glell. TR GhACRT HIST Fohcll FULTeT el 3ETdY.
a) 327 % b) 360 ¥ c) 320 % d) 340 ¥

The market price of a saree is Rs. 400. If shopkeeper allowed 10% discount yet he get
10% profit. Find the cost price of that saree for which shopkeeper buy’s it?

a) Rs. 327 b) Rs. 360 c) Rs. 320 d) Rs. 340

24) 8 #FeX o 3MfOr 5.5 HeX &g 32w AT X Tt #Aeer 40 I YATOr [T S0ATATS!
Ry 39 T A
a) 1560 2. b) 1760 %. c) 1630 %. d) 1730 %.

The hight of wall is 8 meter and its breath is 5.5 it is painted at Rs. 40 per Sqg. meter.
Find cost of paint?
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25)

26)

27)

28)

29)

30)

a) Rs.1560 b) Rs.1760 c) Rs.1630 d) Rs.1730

800

100 I7 x 3 = fordt fpaara?

a) 2.40 b) 2.04 c) 0.24 d) 0.024
800

— = Kij ?

100 Gram x 3 = Kilogram~

a) 2.40 b) 2.04 c) 0.24 d) 0.024

ARAR a7 foear el Forear aaredr sYeiveT 8 a¥f e 3¢ AT &l Heliedl aTcild
ek 3 a¥ g, AR g 45 a¥ 38, R fa=ar Aear Ford a7 fand af 3@de?
a) 22 a¥ b) 21 a¥ c) 20 o d) 17 a¥

The age of Sarita is 8 years greater than the sum of her two sons. The difference
between the age of these Two sons is 3 years. If the age of Sarita is 45 years find the
age of her elder son?

a) 22 years b) 21 years c) 20 years d) 17 years
6y - 12 = 3y +15 R y = farcr ?

a) 8 b) 7 c) 9 d) 123

6y - 12 = 3y +15 theny = How?

a) 8 b) 7 )9 d) 123

guidee AR & S0l sierar?

a) fawarfeca b) gt c) g¥ d) 3N
Who build the famous ‘Sanchi Stupa’?
a) Vikramaditya b) Budha c) Harsha d) Ashoka

SZ (Bx + 1) + 2= 1a% x & Reser el 2

a) — b) 1 c) 0 d)

If é (5x + 1) +§ =1, then what is the value of x ?
-1

a) — b) 1 c) 0 d) =
Qrellel 92 gisdl.

PAPER

a) 45569 b) 54569 c) 45496 d) 45469

Solve the question.
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PAPER
a) 45569 b) 54569 c) 45496 d) 45469

31) 'gdy gIeac i’ 3@ RIUTCAT HRAT GINRMETA JUH Fifarcder ?

a) aIEATRY b) sFEgarCd c) IIHCT d) 9IAEIRE

Who has stated that the earth revolves round the sun?

a) Varahmihira b) BrahmaGupta c) Aryabhatta d) Paithagoras
32) 379N AR T oo, AT gSeEAT II9Tel gidl.

a) et b) 3T c) Hfeiar d) Rty

Ashok was the governer of the regions of Takshashila and ..........c..cc........ ?

a) PatliPutra b) Ujjayani c) Kalinga d) Sarnath

33) OeheTdl Hcg s Tl I fohell @Tel Frer ?

a) 323 b) 425 c) 343 d) 268
Sikandar died in which BC year?
a) 323 b) 425 c) 343 d) 268

34) gSTIT TEpcidTS Hal HIS ATIST ?

a) gARAT b) AT c) 33 d) &roT
Where was the Harappa Civilization coins found?
a) Sumeria b) Mesopotamia c) Egypt d) Iran

35) 'HRY HIUMTAT FgUTd ?
a) gfgell Tgared b) GERT dgared c) HHgICd d) #ered
Who was known as ‘Shakari’?
a) Chandragupta | b) Chandraguptall  c¢) Samudragupta d) Shrigupta

36) HIAE ISTUTEN ey & HEAAT ... AT Eieir?
a) gRamr b) &R c) 3TRUcer d) 9aTe
In which of the following present state the capital of maurya’s ‘PatliPutra’ is situated?
a) IHaryana b) Bihar c) Uttar Pradesh d) Punjab

37) OIOgaear faa=ar desd ARSIl WIAG HIUl hell?
a) TSTqdi=iT b) fsrdrersir c) 3THINeATeI d) FErel=
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38)

39)

40)

41)

42)

43)

44)

Who defeated the maratha’s in the third battle of panipat?

a) The Rajputs b) The British c) The Afghans d) The Mughals

IRST BT T FhR HIOTT TSI T 31mg?

a) IR b) HAERISE c) 3nar d) fe#TTar
The dance from the ‘Garba’ is associated with which state?
a) Gujarat b) Maharashtra c) Orissa d) Himachal

Grelord<hr gard 9 JorgdT IoTdr?

a) #lI b) e c) T d) &ug
Which of the following is a most ancient Kindom?

a) Moriya b) Gupta c) Sunag d) Kanva
BT L1 [ A T Thrd Tl Sood Al

a) gaot b) = c) @ d) 398 (FrEY)
............................. is the only metal mentioned in Rigveda.

a) Gold b) Silver c) Iron d) Bronze
C15 AL SRR T Uehahld AlSTAT.

a) e b) I X c) 371 AfeT3™d d) ad#
What is the unit used to measure Air Pressure?

a) Liter b) Bar

c) Celsius degree d) Square Centimeter

Trelleldehl IV WS HTTeAT WS U bl [aRaideicl 31g?

a) Fsu gferar b) TIAT AAgdTel c) fediepr HaARY d) THALAY FH
Which of this sportsman is a five times world champion in her sport?

a) Krishna Poonia b) Sayna Nehval c) Deepika Kumari d) M.C.Mary Kom
seaserdl AT ey Il smeh?

a) 1950 b) 1972 c) 1948 d) 1935

In which year was Israel established?

a) 1950 b) 1972 c) 1948 d) 1935

HoheIT ALY SRS HARTT HIUTIT JTHATAR olieh Tgdrd.

a) Tagelr b) dFa c) deg d) sicer
Which tribe people live in the central mountain region in Srilanka?
a) Sinhalese b) Tamil c) Vedda d) Buddhist
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45)

46)

47)

48)

49)

50)

51)

ST guaAed GTolTeldehl HIUTAT Teh bceh HgcdTdl 37g?

a) arT b) aZH c) SIS d) dhIchaATIR
Which of the following is an important component in soil erosion?
a) Wind b) Rain d) Deforestation d) Pesticides

GrelloTdehl HIUTAT FFUTT T 38 ?

a) 22 AT b) 21 3 c) 22 fSasX d) 25 AR
Which is the Equinox day?
a) 22 March b) 21 June c) 22 December d) 25 December

GTolToTdehT AT ATA™T IRST HITdT 318 2

a) g b) IRTY c) Hl=arar 3T d) arhr @g
Which of the following is an Emergency need of man?

a) Fan b) Health c) Ring of Gold d) All of these
ST BT v, I "IE

a) SewhlaereT b) IHISH c) AT d) BrSeH
Database is a collection of ..................... .

a) Information b) Records c) Names d) Files

FERTSETE TEATETAT I9clier hosgars RIGr 32 Rl 38?2
a) 1646 #ex b) 1688 #ex c) 1684 Hiex d) 1630 #ex

How much is the height of Kalsubai peak in the Sahyadri mountain range of
Maharashtra?

a) 1646 Meter b) 1688 Meter c) 1684 Meter d) 1630 Meter

STl gald g €RUT huTa?

a) STTehdTaT b) AR AWK c) feurss d) #HTsRT
Which is the longest dam of the world?

a) Jayakwadi dam b) nagarjuna Sagar dam

c) hirakud d) bhakra nangal dam

'Sl HIETUT e’ FULT hIoTdT fead Aleloll Sicl?
a) 15 3O« b) 28 AT c) 16 X d) 28 thyarY
Which day is observed as Ozone Day?
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52)

53)

54)

55)

56)

57)

58)

a) 15 December b) 28 March c) 16 September

GrelTeltehl SIUTAT JATGRUTAT HgedTdl e ATer?

a) STerdrs b) 3cTreTee c) gar
Which is not an important Factor of Environment?
a) Reservoirs b) Employment c) Air

Scolrdl STl HIOTAT?

a) HCIG b) I c) =garh
What is the capital of Itlay?

a) Madrid b) Rome c) New York
MECH ALY SIS HIVAT A AR Frar?

a) 3frarareteT b) A

c) grasIel d) FIEIsT FASS
Which gas is formed in Gobar gas for combustion?

a) Oxygen b) Methane c) Hydrogen
AT RRTA IToATRE THATT ..o TFh S AT
a) 96 b) 65 c) 76

What is the percentage of water in Human body?

a) 96 b) 65 c) 76

GrelloTdehT AT Jald JId IiAeT 319d1d.

a) g1 b) qu c) §eIeC
Which of the following contains maximum proteins?

a) Orange b) ghee c) Potato
£C) [T e ) g e @d g

a) HuEC b) IRAT c) Hethe
............... is a Organic fertilizer.

a) Compost b) Urea c) Sulphate

Grellerdehl I0TAT Tl &N +ATer?
a) die b) d@s C) FIdTec

d) 28 February

d) AT

d) Soil

d) Pisa

d) Carban Dioxide

d) TSI

d) groundnut

d) s

X

d) nitrate

d) e

—
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59)

60)

61)

62)

63)

64)

Which out of the following is not a magnetic metal?
a) Copper b) Iron c) cobalt

feq Ferdreear aSiei =A1a wrr gd?

a) gfsa gforar b) s @ c) R @ifies
What was the name of Tipu Sultan’s fater?

a) Pandit Purnia b) Gazi Khan b) Mir Sadiq
REATIER oo g 3wy gorrdt S

a) ol b) AT c) HIRAA
...................... Drug is effective on Malaria.

a) Sulfone b) Tenine c) Terramycin

.................. g1 AEed TISUIRT TaTd FoIvT 9erd 8.

d) Nickel

d) g&¥ 3l

d) Haydar Ali

d) FeRIeFd

d) Chloroquine

a) J=TsC b) &g c) fiRr d) Sdiec
...................... Is the hardest naturally occurring substance.

a) Granite b) Iron c¢) Diamond d) Basalt
FAITATST PUTAT YT oF GEol e o g Tgar?

a) &G b) qear c) UHAfPIT d) AT g q
In Garbage which material does not decomposed for years?

a) Paper b) Wood c) Thermocole d) Soil things
M.K.S. getrdid Dol Teheh IO ?

a) fhelldld / Thg  b) I / dhg c) HeX / Hepg d) T / ddhg
In M.K.S. system the unit of speed is .................. .

a) Kilogram/Second b) Gram/Second

c) Meter/ Second d) Centimeter/ Second

TSegITaseRI I Aas +IvT Hd ?

a) FAGRISE cllehadr 3TATeT
b) HET ST TN
C) IToIRMHA

d) g

Who chooses ‘Collector’?
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65)

66)

67)

a) Maharashtra Public Service Commission
b) Union Public Service Commission

c) State Government

d) Centre Government

ARATT TUH HAGHTIRUIIT IS TATIA HI0ATT IToll?

a) Ferendr b) #HeS c) feeelr d) #gH

In which of the following city the first municipal corporation was established/
a) Culcutta b) Mumbai c) Delhi d) Madras
HeaTd ATAT ST oo 31T 9rfga.

a) AT b) HH-ITET c) TITAR d) gATT
Each member of the family must have ..................... . opportunities.

a) unequal b) Less more c) According toage d) Equal

TGrellel YT JTehclr aroaTclie wfafes eme.

9T 3Tl

NN

IR 3T
a) b) c) d)

Find out the reflection image of the question figure observed in water from the given
answer figures.
Question Figure

N

Answer Figures

—t
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68)

b)

URa il Al SBUTRY 3MTehcll Ve,

Out of the given group of figures find out an exact similar figure to the fiven question

figure.

TR 3Tehcll

—
8 —

A—
— - =0

d)

Question Figure

—
8 —

A—
— - =0

Answer Figures

—
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69) Trollel YT UigedT Uerar qa-ar YarRl STET §aey Mg, oard Heaer foa=ar qeran e
gereft g, Jrawa wRARegrar St U 9g [HasT.
In the question below the 1st number is related to the 2nd number so also the 3rd to
the 4th select the proper number form the given alternateives in the place of
guestion number
12:18::50:7
a) 75 b) 60 c) 57 d) 68

70) USHT Tihfde ANT 343 & F&ar 576 3l ffgdrd @ 154 & g@ear i fogmEr.

a) 385 b) 388 c) 328 d) 366
In a coded language 343 is coded as 576. How you will code 1547
a) 385 b) 388 c) 328 d) 366
71) Qe e SFAD oo, ARET 31 A =Y.
a) Se™ 3 b) cau T c) I&FIC d) Seara 3T
Which of this cannot be the same for two different persons?
a) Finger Prints b) Skin Colours c) Blood Group d) Eye Colour

72)  @reliel 3l geATdegrear Sl Yo gg e,
Find the term at the place of Question mark?

?

216 8
125 27
a) 4 b) 305 c) 343 d) 729

73)  wesARIegAr el JUTRAT e AT Aasr.
Find the letter option at the place of question mark.
XW, UT, RQ, ON, ?

12
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74)

75)

76)

77)

78)

a) MK b) KL c) LM d) LK

qiaa< EICRIn AT F&AT fohdir?

a) 8 b) 9 c) 7 d) 10
How many rectangle are there in the adjoining figure.
a) 8 b) 9 c) 7 d) 10

Grellel el FaITd ee; foasr.

goer, Aol Faar, ...

a) AR b) 3¢ c) |ar d) ST
Find the word that belongs to the following group.

Kite, Sparrow, Crow, .............
a) Cat b) Camel c) Rabbit d) Crane

TohT IR fAf@erear AR 17 Hof g carear g 9 Hor 38 3ed @R dage 10 &1
ShHIRIA I HCleIT Helrdl Fealcargel fhedr st 3Te.
a) 18 ar b) 17 ar c) 19 ar d) 16 ar

In a Queue, there are 17 persons behind Nikhil and 9 persons ahead of him. What is
the place of a person from the front if he is at the 10th place form the end of the
Queue?

a) 18t b) 17th c) 19t d) 165

TehT Hichfde AT MNO Fgutat RST a¥ ABC = ?

a) FGH b) HIJ c) EFG d) BCD
In a code language MNO is RST then ABC =?
a) FGH b) HIJ c) EFG d) BCD

HR, HERTSE T IR JredTdlel TRER HGE GATIUIRT gef MMepeiral 9AT foasr.

Select the perfect Venn diagram option which denotes the relation between India,
Maharashtra and Gujarat.

—t
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79)

80)

81)

82)

83)

(@) ©® (O
b) c) d)

a)

gorear disaed fRdr g8 3radara?

Who many bones does and elephants trunk have?

a) 2 b) 0 c)3 d) 1

gorol caTeaT dfgufiae 730 fGadie Aol 3. afgoirer Ser AFarT Sielell 3. R
oAl STod HIOTCAT R SHTelell 3THA?
a) 9IFAAR b) UshaR c) AR d) erfear

Sujal is 730 day’s elder than his sister. On the birth of his sister it was Saturday. Then
on which day sujay was born?

a) Monday b) Friday c) Thursday d) Saturday

el ARl 7 S[BUI=AT H&d=n gy faasr.

a) 78 b) 96 c) 67 d) 87
Find out the odd man out.
a) 78 b) 96 c) 67 d) 87

T o SHOTRT 3Tehclel GAT shateh M.
Find the odd figure out.

b)

a) ) d)
WTelTel FRAATciel FRaT JHTehcilciel SIET 39T 3R MhclIAEY ErEdell 3¢ S $9T e
TR 3MTehdllc S 3ol dl 9A foasr.

From the following answers. Find out the suitable answer which has perfect part of
guestion figure and question figure can be congruent to the part of answer.

TR 3Tl
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84)

85)

86)

87)

3dY 3TehcaT

Question figure

Answer figure

GTolTel JeeTidlel RepFaT SR Shlordr 378 AdTeT?

In the following question which letters come in the blanks?
cC__abcc __ _ba cba ¢
a) abab b) cbab c) bbcb d) abac

AT SIS P CABITHI SISATY HEGET HioT?

a) 9dvreT b) FEIFAT c) Tseydr d) ITdRT ATEY.
Who is the President of National institute of transforming India?

a) Prime minister b) Chief Minister c) President d) None of these
dTfeIehT f&eT FgULT AT AR FATTGURGE SR AT dhell SATcl?

a) ifdedrdr AMaANaTS Fol b) Te#ATaT G

c) AGRIUN ARRIOM d) 3fgcaEs giaat

Which great Social workers anniversary is celebrated as ‘Balika Din’?

a) Krantijyoti Savitribai Phule b) Rajmata Jijau

c) Maharani Tararani d) Aahilayabai Holkar

GREET HIUTAT TATT 38 ?

a) ORI b) TTEATT Cc) HERISE d) gRamom
In which state propandar is located?

[ s )



88)

89)

90)

91)

92)

93)

94)

a) Gujrat b) Rajastan c) Maharashtra d) Haryana

gRATOM AT FTIHAT HI0T 316 ?

a) AARY IRHT b) FAEITT WeeX  C) TEl ral d) faezmanR @

Who is the chief Minister of Haryana?

a) Manohar Parrikar b) manoharlal khattar c) Chanda kochhar  d) Vidyasagar Rao

HERTSEIA 3ATHAT 0T HTEd?

a) ARTIOT 0T b) dgahid dETel C) YRRl AT d) T WS

Who is the Industry minister of Maharashtra?

a) Narayan Rane b) Chandrakant Patil c) Prakash mehata  d) Eknath khadse

fhedr AN gr @Elgt\ PIOTAT Wl Jarad 31Mg?

a) fohohc b) ssfHceT c) Hagar d) FEgey
Sportsman Kindbi Shrikant is related with ..................... game?

a) Cricket b) Badminton c) kabbdi d) Boxing
IRFAAR' IS 3T7?

a) ThISTTeTG b) HX - & c) 3mam d) gareTg
Where is the ‘Charminar’ located?

a) Firojabad b) Fatehpur Sikri c) Agra d) Hydrabad

"N Togehelel TEMEE o AT shell .............. .

a) HHAR HIBIT 9T b) IreTdf eg FERTST

c) 31. SRS 38 d) ST, YSIeRTa &2 d
.............................. Established people’s education society.

a) Karmaveer Bhaurao Patil b) Rajashri Shau maharaj

c) Dr. Babasaheb Ambedkar d) Dr. Panjabrao Deshmukh

2012 =T & 3iTaiegs A2 9 W HIUTT WA I Ugeh Ychldel?

a) Afteygee b) SefdcsT c) FE d) SIHdTSIT

Vijay Kumar won a silver medal at the 2012 London Olympics in which sport?

a) Boxing b) Badminton c) Wrestling d) shooting
HRATATSl Fafcshse Aafieh e ............. .

a) FIsall b) FgTarar c) Heg d) Srelerdr
................. is the india’s best natural port.

a) Kandla b) Nhava c) Mumbai d) Calcutta

[ 1)



95) AT .oovevreeee. T ThAT IodTell Glel ST 37T d.

a) Iole b) gRarom c) HERISE d) SFH - HIRHAT
.................... is the only state of india having two capitals.

a) Punjab b) Haryana

c) Maharashtra d) Jammu & Kashmir

96) IIfelelidl = HATAT AY ATTel?

a) drgATdY b) AHRATIH c) gferor d) geAcdH

What Galileo invented?

a) Thermometer b) Barometer c) Telescope d) Micrometer
97) &A%l f[AAR AT HARATET S ............... AT SITITC.

a) gfgel b) dter c) gradr d) |rdar

d) I FqHFHUT AfaIAA

Which of these is held annually in India?
a) Vidhan Sabha Election

b) Lok Sabha Election

c) Presidential Election

d) Budget Session of Parliment

98) e, T TEAT ' HRATT HAER ' 3 Fgeol S,
a) HS b) feealr C) 3HAW d) 3gHCEG
...................... City is known as the ‘manchester of india’.
a) Mumbai b) Delhi c) Amritsar d) Ahmedabad

99) Yl I facgeRIersh =gl

a) X b) TaliEeH c) oS d) urofr
Which of the following is a insulator?
a) Rubber b) Plastic c) Wood d) Water

100) ' RDX ' & "ol FT 37M8?
a) Thicsh b) STI=TRIh IGNGINED d) IEfas @d
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What is ‘RDX’?
a) Explosive b) Disinfectant
c) Herbicide d) Chemical Fertilizers
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